

Zeitschrift: L'Enseignement Mathématique
Herausgeber: Commission Internationale de l'Enseignement Mathématique
Band: 46 (2000)
Heft: 3-4: L'ENSEIGNEMENT MATHÉMATIQUE

Artikel: p-ADIC L-FUNCTION OF TWO VARIABLES
Autor: Fox, Glenn J.
Kapitel: 2.5 p-ADIC FUNCTIONS
DOI: <https://doi.org/10.5169/seals-64800>

Nutzungsbedingungen

Die ETH-Bibliothek ist die Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Zeitschriften und ist nicht verantwortlich für deren Inhalte. Die Rechte liegen in der Regel bei den Herausgebern beziehungsweise den externen Rechteinhabern. [Siehe Rechtliche Hinweise.](#)

Conditions d'utilisation

L'ETH Library est le fournisseur des revues numérisées. Elle ne détient aucun droit d'auteur sur les revues et n'est pas responsable de leur contenu. En règle générale, les droits sont détenus par les éditeurs ou les détenteurs de droits externes. [Voir Informations légales.](#)

Terms of use

The ETH Library is the provider of the digitised journals. It does not own any copyrights to the journals and is not responsible for their content. The rights usually lie with the publishers or the external rights holders. [See Legal notice.](#)

Download PDF: 02.04.2025

ETH-Bibliothek Zürich, E-Periodica, <https://www.e-periodica.ch>

LEMMA 2.3. Let $\tau \in \mathbf{C}_p$. In the field $\mathbf{Q}_p(\chi, \tau)$, for all $n \in \mathbf{Z}$, $n \geq 0$,

$$B_{n, \chi_n}(\tau) = \lim_{h \rightarrow \infty} \frac{1}{p^{hf_\chi}} \sum_{a=1}^{p^hf_\chi} \chi_n(a)(a + \tau)^n.$$

Proof. By applying Lemma 2.2 to (4), we obtain

$$B_{n, \chi} = \lim_{h \rightarrow \infty} \frac{1}{p^{hf_\chi}} \sum_{a=1}^{p^hf_\chi} \chi(a)a^n.$$

Therefore, by (2),

$$\begin{aligned} B_{n, \chi_n}(\tau) &= \sum_{m=0}^n \binom{n}{m} \tau^{n-m} \lim_{h \rightarrow \infty} \frac{1}{p^{hf_{\chi_n}}} \sum_{a=1}^{p^hf_{\chi_n}} \chi_n(a)a^m \\ &= \lim_{h \rightarrow \infty} \frac{1}{p^{hf_{\chi_n}}} \sum_{a=1}^{p^hf_{\chi_n}} \chi_n(a) \sum_{m=0}^n \binom{n}{m} \tau^{n-m} a^m. \end{aligned}$$

Since f_χ and f_{χ_n} differ by a factor that is a power of p , we must have

$$B_{n, \chi_n}(\tau) = \lim_{h \rightarrow \infty} \frac{1}{p^{hf_\chi}} \sum_{a=1}^{p^hf_\chi} \chi_n(a)(a + \tau)^n,$$

and the proof is complete. \square

2.5 p -ADIC FUNCTIONS

Let K be an extension of \mathbf{Q}_p contained in \mathbf{C}_p . An infinite series $\sum_{n=0}^{\infty} a_n$, $a_n \in K$, converges in K if and only if $|a_n|_p \rightarrow 0$ as $n \rightarrow \infty$. Let $K[[x]]$ be the algebra of formal power series in x . Then it follows that a power series

$$A(x) = \sum_{n=0}^{\infty} a_n x^n,$$

in $K[[x]]$, converges at $x = \xi$, $\xi \in \mathbf{C}_p$, if and only if $|a_n \xi^n|_p \rightarrow 0$ as $n \rightarrow \infty$. Therefore whenever a power series $A(x)$ converges at some $\xi_0 \in \mathbf{C}_p$, then it must converge at all $\xi \in \mathbf{C}_p$ such that $|\xi|_p \leq |\xi_0|_p$. The following result, for double series in K , can be found in [8].

PROPOSITION 2.4. Let $b_{n,m} \in K$, and suppose that for each $\epsilon > 0$ there exists $N \in \mathbf{Z}$, depending on ϵ , such that if $\max\{n, m\} \geq N$, then $|b_{n,m}|_p \leq \epsilon$. Then both series

$$\sum_{n=0}^{\infty} \left(\sum_{m=0}^{\infty} b_{n,m} \right) \quad \text{and} \quad \sum_{m=0}^{\infty} \left(\sum_{n=0}^{\infty} b_{n,m} \right)$$

converge, and their sums are equal.

There are two power series that we wish to make note of in particular. First we define the p -adic exponential function, $\exp(x)$, in $\mathbf{Q}_p[[x]]$, by

$$(9) \quad \exp(x) = \sum_{n=0}^{\infty} \frac{1}{n!} x^n.$$

From (8) we can conclude that this power series converges in $\{x \in \mathbf{C}_p : |x|_p < p^{-1/(p-1)}\}$. The p -adic logarithm function, $\log(x)$, in $\mathbf{Q}_p[[x]]$, is defined by

$$(10) \quad \log(1+x) = \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n} x^n,$$

the power series converging in the domain $\{x \in \mathbf{C}_p : |x|_p < 1\}$. For $|x|_p < p^{-1/(p-1)}$, we have $\log(\exp(x)) = x$ and $\exp(\log(1+x)) = 1+x$.

The following property is a uniqueness property for power series, found in [13].

LEMMA 2.5. Let $A(x), B(x) \in K[[x]]$, such that each converges in a neighborhood of 0 in \mathbf{C}_p . If $A(\xi_n) = B(\xi_n)$ for a sequence $\{\xi_n\}_{n=0}^{\infty}$, $\xi_n \neq 0$, in \mathbf{C}_p , such that $\xi_n \rightarrow 0$, then $A(x) = B(x)$.

Let U be an open subset of \mathbf{C}_p , contained in the domain of the p -adic function f . We say that f is differentiable at $x \in U$ if the limit

$$f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$$

exists. If this limit exists for each $x \in U$, then we say that f is differentiable in U .

The relationship between the derivatives of a function and its power series expansion is given in the following result, found in [8].

PROPOSITION 2.6. Let $\sum_{n=0}^{\infty} a_n x^n$ be a power series with coefficients in \mathbf{C}_p , and suppose that

$$f(x) = \sum_{n=0}^{\infty} a_n (x - \alpha)^n$$

converges on some closed ball B in \mathbf{C}_p . Then

i) For each $x \in B$, the k^{th} derivative $f^{(k)}(x)$ exists, and is given by

$$f^{(k)}(x) = k! \sum_{n=k}^{\infty} \binom{n}{k} a_n (x - \alpha)^{n-k},$$

and we have

$$a_k = \frac{1}{k!} f^{(k)}(\alpha).$$

ii) Let $\beta \in B$. Then there exists a series $\sum_{n=0}^{\infty} b_n x^n$ such that

$$f(x) = \sum_{n=0}^{\infty} b_n (x - \beta)^n$$

for any $x \in B$. Both series $\sum_{n=0}^{\infty} a_n x^n$ and $\sum_{n=0}^{\infty} b_n x^n$ have the same region of convergence.

Now let K be a finite extension of \mathbf{Q}_p . For $A(x) \in K[[x]]$, $A(x) = \sum_{n=0}^{\infty} a_n x^n$, where $a_n \in K$, define

$$\|A\| = \sup_n |a_n|_p.$$

Let $P_K = \{A(x) \in K[[x]] : \|A\| < \infty\}$. Then $\|\cdot\|$ defines a norm on P_K , and so $K[x] \subset P_K \subset K[[x]]$. Furthermore P_K is complete in this norm.

Let $\{b_n\}_{n=0}^{\infty}$ be a sequence of elements of K , and let the sequence $\{c_n\}_{n=0}^{\infty}$ be defined by

$$(11) \quad c_n = \sum_{m=0}^n \binom{n}{m} (-1)^{n-m} b_m$$

for each $n \in \mathbf{Z}$, $n \geq 0$. Then $c_n \in K$ for each $n \geq 0$. Note that (11) implies that these sequences must satisfy

$$\sum_{n=0}^{\infty} c_n \frac{t^n}{n!} = e^{-t} \sum_{n=0}^{\infty} b_n \frac{t^n}{n!}.$$

This implies that

$$\sum_{n=0}^{\infty} b_n \frac{t^n}{n!} = e^t \sum_{n=0}^{\infty} c_n \frac{t^n}{n!},$$

and so we have the relationship

$$(12) \quad b_n = \sum_{m=0}^n \binom{n}{m} c_m$$

for each $n \in \mathbf{Z}$, $n \geq 0$. We can reverse this process to derive (11) given (12). Thus (11) and (12) must be equivalent. The following relate to sequences that satisfy (11) and (12), and are found in [13].

THEOREM 2.7. *Let $\{b_n\}_{n=0}^{\infty}$ and $\{c_n\}_{n=0}^{\infty}$ be defined as in the above relation. Let $\rho \in \mathbf{R}$ such that $0 < \rho < |p|_p^{1/(p-1)}$. If $|c_n|_p \leq C\rho^n$ for all $n \geq 0$, where $C > 0$, then there exists a unique power series $A(x) \in P_K$ such that $A(x)$ converges at every $\xi \in \mathbf{C}_p$ with $|\xi|_p < |p|_p^{1/(p-1)}\rho^{-1}$, and $A(n) = b_n$ for every $n \geq 0$.*

COROLLARY 2.8. *Let $A(x)$ be the power series from the theorem. Then for each $\xi \in \mathbf{C}_p$ such that $|\xi|_p < |p|_p^{1/(p-1)}\rho^{-1}$, we have*

$$A(\xi) = \sum_{n=0}^{\infty} c_n \binom{\xi}{n}.$$

Theorem 2.7 can be applied to the sequence $\{b_n\}_{n=0}^{\infty}$ in $K = \mathbf{Q}_p(\chi)$, where

$$b_n = (1 - \chi_n(p)p^{n-1})B_{n,\chi_n},$$

in order to obtain a power series $A_\chi(s)$ satisfying $A_\chi(n) = b_n$, and converging on the domain $\{s \in \mathbf{C}_p : |s|_p < |p|_p^{1/(p-1)}|q|_p^{-1}\}$. (Since $|p|_p^{1/(p-1)}|q|_p^{-1} > 1$ and $|n|_p \leq 1$ for each $n \in \mathbf{Z}$, all of \mathbf{Z} is contained in this domain.) From this a p -adic function, $L_p(s; \chi)$, can be derived that interpolates the values

$$L_p(1 - n; \chi) = -\frac{1}{n}b_n,$$

and which converges in $\{s \in \mathbf{C}_p : |s - 1|_p < |p|_p^{1/(p-1)}|q|_p^{-1}\}$, except $s \neq 1$ if $\chi = 1$. Note that if χ is odd, then χ_n is even when n is odd, and χ_n is odd when n is even. Thus the quantity $(1 - \chi_n(p)p^{n-1})B_{n,\chi_n} = 0$ for all $n \in \mathbf{Z}$, $n \geq 1$, as we saw from the properties of generalized Bernoulli numbers. Therefore $L_p(s; \chi)$ vanishes on a sequence such as $\{-p^m\}_{m=0}^{\infty}$, which has 0 as a limit point, implying that for such χ we must have $L_p(s; \chi) \equiv 0$.